
Assembly Contents – Replacement Parts List  
 

Phone/Text (208) 881-0909                                                                                                    
Email: info@mtntopsnowbike.com 

 

 

Model Year 2023-24 | Spindle Assembly 

• P/N: 4201-0203-23  
• Document Purpose: The purpose of this document is to outline the parts & sub-assemblies that make up a kit. This 

informa�on is helpful in determining replacement parts. 
• Notes: This document lists the individual parts and/or sub-assemblies contained within a part assembly. If part(s) are 

listed as an “inventory part”, that item is a replacement part. If part(s) are listed as an “inventory assembly”, you may find 
it helpful to download the document for that inventory assembly to review the individual parts list. 

 

ASSEMBLY CONTENTS & REPLACEMENT PARTS LIST: 

Part Number Description QTY in 
Assembly 

Price per 
each 

4013-2213-06 Fastener, Button head bolt / 8 x 1.25 x 14mm 4 $2.00 
4013-2213-11 Fastener, Button head bolt / 8 x 1.25 x 30mm  2 $2.00 
4013-2213-23 Fastener, Button head bolt / 8 x 1.25 x 50mm  4 $2.00 
4013-2213-25 Fastener, Button head bolt / 8 x 1.25 x 60mm 4 $3.00 
4031-1214-01 Fastener, Flat washer / 10.5 id x 20 od x 2.0 thick 2 $0.50 
4012-2514-10 Fastener, Socket head bolt / 10 x 1.5 x 25mm  2 $2.97 
4222-0200-22 Spindle / Linkage Bracket, Pivot Bushing (flanged) 2 $15.00 
4226-0203-22 Spindle 1 $300.00 
4223-1000-22 Spindle, Axle Clamp, Base Plate  1 $75.00 
4223-1200-22 Spindle, Axle Clamp, Thread Plate 2 $30.00 
4223-1100-22 Spindle, Axle Clamp, Top Half 2 $45.00 
4223-0300-22 Spindle, Fork Clamp, Front Half 2 $120.00 
4222-0100-23 Spindle, Fork Clamp, Rear Half 2 $20.00 
4223-0200-23 Spindle, Fork Clamp, Support Bar 1 $150.00 
4224-0103-22 Spindle, Fork Guard  2 $60.00 
4221-0100-22 Spindle, Ski Bolt Pivot Sleeve 1 $15.00 

 

mailto:info@mtntopsnowbike.com

